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“If the multiverse theory is true,
then there's a universe where it is not.”

. The next question with the same answer as this one is:
(A)2 (B)3 (C)4 (D)5

2. The first question with answer C is:
(A)1 (B)2 (C)3 (D)4

What do 3. The last question with answer A is: x
. (A)5 (B)6 (C)7 (D)8

you think B

the

answers

are?

. The number of guesﬂons with answer D is:
(A)1 (B)2 (C)3 (D)4

5. The answer occurring the most is (if tied, first alphabetically):
(A)A (B)B (C)C (D)D

é. The first question with the same answer as the question following it is:
(A)2 (B)3 (C)4 (D)5

7. The answer occurring the least is (if tied, last alphabetically):
(A)A (B)B (C)C (D)D

8. The highest possible score on this test is:
(A)S (B)7 (C)é (D)8
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The sentence at the bottom is

fine. SOME FACTS

Every 'c¢' in Pacific Ocean is
pronounced differently.

If you folded a piece of paper 42
times, it would be thick enough
to reach the moon.

The average cloud weighs an

IO estimated 500 tons.
The sentence at the top is false.

If Poison Expires THE BRAIN IS
will it be THE ONLY ORGAN
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More Poisonous or THAT NAMED
Less poisonous ITSELF.

The only
time the word

If someone makes eye
contact with you for

INCORRECTLY 60% of a conversation
isn't spelled they’re bored,
INCORRECTLY titm%tagctl they’re ;
. " dattractea 1o you an
1s when it's spelled 100% of the time
INCORRECTLY then they are

threatening you.

Read more at

www.paraminnovation.orqg/newsletter
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